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INSTRUCTION TO CANDIDATES
Immediately after getting the booklet read instructions
catefully, mentioned on the front and back page of the question
bookletand donot open the seal given on the question booklet,
unless asked by the invigilator.

Wiiteyour RollNo., Answer-Sheet No,, in the specified places
given above and do your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.
After Opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and
printing of all the 150 questions is proper. If any
discrepancy is found, inform the invigilator within
15 minutes and get the correct booklet.

While answering the question from the Question Booklet, for
each question choose the correct/ most appropriate option
out of four options given, as answer and darken the circle
provided against that option in the OMR Answer-Sheet,
bearing the same serial number of the question. Darken the
circle only with Black or Blue ball point pen.

Darken the circle of correctanswer properly otherwise answers
will notbe evaluated. The candidate will be fully responsible
forit.

There are 150 objective type questions in this Question
Booklet. 1 mark is allotted for each correct answer and
1/4 mark will be deducted for each wrong Answer.

Do not write anything anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR Answer Sheet
and cover page of question booklet is to be handed over to
the invigilator. Carbon copy of the Answer-Sheet and
Question Booklet may be taken away by the examinee.

This Question Booklet consists of Parts namely :

(1) Elements of Agriculture Science and 35 Marks
Mathematics (Agriculture Group)

(2) Animal husbandry, Dairy technology, 35 Marks
Fisheries and Poultry farming

(3) Crop Production and Horticulture 30 Marks

(4) General English 15 Marks

(5) General Hindi 15 Marks

(6) General Knowledge of Computer 10 Marks

@ General Knowledge 10 Marks

All questions are compulsory.
In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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PART -1

Elements of Agriculture
Science and Mathematics
(Agriculture Group)

1.  The three resistances of equal value are
arranged in the different combinations
shown below. Arrange them in

increasing order of power dissipation :

O L AArA AN ANNA—

. 4— — AN — AN —
1

m

[
i P
) =

(A) (1) < (1) < @V) < (I)
B M<)<IV)<@
(€ ()< (IV) < (II) < (I0)
(D) (O < (1) < () < (IV)

2. Which method is used in hybridization
of self pollinated crops ?

(A) Pedigree method
(B) Bulk method

(C) Back-cross method
(D) All the above

U - 1
iy faqm & a@ u@ nfvE
(FfaaE)

1. &= waE wfadd @ fafE geiem |§ R

T9a T R | S & % SR W 3% 9gd
W'ﬁaﬁl’i:

m s ANA—ANN——
i ANA— AN
(1) L
— AAA——
i
(II1) W -
= AVAN
. /\_v/\w_/‘- _|
1
) ] —\AA—
L M, v/\v-"\ ‘

(A) (1) < (IT) < (IV) < (I)
(B) (ID < (I < (IV) < ()
©) @< (IV)< U<y
(D) () < (I < (D) < (AV)

2. TN FEE % foTg HeRtur st il fafy

wRiRT H W Sl € ?
(A) Ui fafy
(B) e fafy
(©) % s fafy
(D) SHe et
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The pest called sugarcane leaf hopper is :
(A) Dysdercus

(B) Pyrilla

(C) Hieroglyphus

(D) Chilo

An insecticide usually act upon :
(A) digestive system

(B) mnervous system

(©) circulatory system

(D) muscular system

Consider the following statements about
Urea :

(1) The nitrogen content in urea is 50%.

(2) It does not alter the pH of the
solution.

(3) Urea is highly stable as compared
to that of other fertilizers.

(4) Itcan be used for all types of crops. -

(5) Itis highly soluble in water.
Incorrect statements are :

(A) (1) and (3)

(B) (2)and (5)

(© (4 and (5)

(D) () and (3)

3.

?I’T@F[Fﬁ'q?ﬁq?ﬁ'{z%
(A) fewssdy

(B) Gl

(C) TERITwE

(D) faan

T ISR I FHIEd Sl ©
(A) HeH G

(B) dfsrem a5

(C) e @

(D) Ueh o

e o fawa § f71 Tl X fomam S -

(1) gfen o e wi yfaear 50% ¥
(2) = foaea % pH i qRafad &l s

(3) TR S ht oI H U8 HAfuew werh
S

(4) I8 9t YR * wEal & ford ST H
SRS

() & W@ ¥ srcafusw faem j
TS FYTE

&) ()T E)

® @TWE)

© @ E)

D) @ E)
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If sum of n terms of an A.P. is 77 and if its
first term is 2 and common difference is

+
3, then its N > th term is:
(A) 8
(B) 11
©) 14
D) 17

Two pieces of metal when immersed in a
liquid have equal upthrust in them,
then :

(A) Both pieces must have equal
weights

(B) Both pieces must have equal
densities

(C) Both pieces must have equal

volumes

(D) Both are floating to the same depth

Locomotory structures of earthworm

are :

(A) Dristles

(B) cilia

(C) parapodia

(D) setae

6.

I TF 9.4, F n TS w1 AN 77 § qAq Al
TGH JU9 UE 2 ¥ TE TA=RK 3 T, 9 HH

n+1

5 IR :

(A) 8
(B) 11
(C) 14

(D) 17

N U1g % THS! DI 5a forel 58 H oA Sl
£ 4 ST oY STl SeeaT e W &
qr:

(A) < THST F WK T B

(B) 2 THS T GUA ¥

(C) Bl THEST T STITH THH &

(D) 3 ghs T T H
W?W g

(A) foew
(B) wiiferm
(©) Hdfea
(D) e
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9. Among the following statements,

incorrect statement is :

(A)

(B)

©

(D)

Gobar gas contains maximum

percentage of methane.

Gobar gas is formed by the process

of aerobic fermentation.

Slurry obtained after fermentation
is used as fertilizer.

Biogas is used as alternative energy

resource.

10. If the distance between two masses is

doubled, the gravitational attraction
between them :

(A)
(B)
©
(D)

11, If

is doubled -

becomes four times

is reduced to half

is reduced to quarter

log 3=0.4771 and

1 2019 1 2018
log(l + Ej = log(l + §j = ond

term of (1+x)%, then x =

10.

11,

=1 oMl o HET TeAd HUA R

(A) TeR 9 § gaifuss wfaeaar A9 @t

T

(B) e T wiiferen fepvam wfshan § ffa

BAIg

(C) Tohuem & qged U S7asIY 1 SuAn

Ik % TG H B B

(D) ENE dehfeas ol @ % &9 H

ERESRICIR

N FAIHI % o= g G R G W @

T HeA TEcd ST B

(A) g
(B) R
(C) s
(D) TH-TeE

7

1 2019 1 2018
log[1+ =| —logl1+~=| =
og( 9j Og( | 9]

(1+x)%0 =1 §E0 UG, 99 x =

log 3=0.4771

(A) 0.229 (A) 0.229
(B) 0.09 (B) 0.09
© 1 © 1
(D) 0 (D) 0
SPACE FOR ROUGH WORK / 7% &/ & fad wg
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12.

13.

14.

15.

Cantharidin is obtained from : 12.

(A)
(B)
©
(D)

An insect that produces shellac is : 13.

(A)
(B)
©
(D)

Which of the following plant hormone  14.

ball weevils
honey bees
beetles

white ants

Apis indica
Bombyx mori
Laccifera lacca

Dictyolopius coccus

exhibits Richmond Lang effect ?

(A)
(B)
©)
(D)

Which of the following will be the 15.

Auxin
Gibberellin
Cytokinin
Ethylene

phenotypic ratio of offsprings produced
in Dihybrid cross TtRr X TTrr ?

(A)
(B)
©)
(D)

1:1
1:2:1
3:1

FIREA T o S ©
(A) e difeed

(B) TR

(©) ™

(D) ¥Hg =

YA I A T TUR T
(A) | e

(B) iifiera AITE

(C) W% <t

(D) feferaenta wisd

fre § @ PG Uy s femte o e
yeffa St 82

(A)_ e
() fosifem
(C) WErHET
(D) sefifem

{5 TRt 319 TtRr x TTrr ¥ o ol Hafer
&1 fpAifefues omaE f= & | &1 @1 8 ?

(A) 1:1

(B) 1:2:1
) 3:1

(D) 1:1:1:1
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0921/ TE-TAG/RCE-EAG 7

Set - A



16. The optimum pH of soil for plant growth ~ 16. aedfa & Ig1 BH % fod §ay =1 STHe
lies between : pHfF & weA g :
(A) 221096 (A) 22996
(B) 11.5 to 14.0 (B) 11.5 9 14.0
(C) 6.0to 65 (C) 60965
(D) 7.0to07.5 (D) 70975
3 3
17. If cos6== then tan(-)+cot6—g—5-cosf— = 17. 3Afg cosb==, q& tan(-)+cot(-)—§cosI =
5 12 2 5 12 2
(A) 0 (A) 0
®) 1 ® 1
o B o B
© 35 (S
D) -2 Dy -2
® -7 O -~
18. How much energy in kilowatt hour is ~ 18. ¥ 50 a1 & &ai = 10 % i fa7 sram
consumed in operating ten 50 watt bulbs W TH TEH (30 fe) o @= 2F 9l I
for 10 hours per day in a month fepeitare sie H forat gt ?
(30 days) ?
(A) 1500 (A) 1500
(B) 5000 (B) 5000
(G 15 (C) 15
(D) 150 (D) 150
SPACE FOR ROUGH WORK / 1% & & fad wrg
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19.

20.

21.

22,

Lac is produced as : 19.

(A) Secretion from body
(B) Excretion from body
(C) Excess fluid oozing out of body

(D) Faeces of lac insects

What is median for the following data ? 20.

18, 25, 17, 35, 30, 19, 15
(A) 35
(B) 25
(C) 19
(D) 17

The 2’s complement of 1001 = 21.

(A) 0110

(B) 1111

—_~

C) 1100

(D) 0111

0.1435 g AgCl is obtained from 20 ml HC], 22.

the normality of the acid will be :

TG 3T Bl & -

(A) TR F B

(B) ¥R % IESiH 9

(C) YRR Y sifye =9 % Trepe 9
(D) W@ % HIS F HiHd HX Y

frfafea sAfwel = for mfts F: 8 2
18, 25, 17, 35, 30, 19, 15

(A) 35

(B) 25

(© 19

(D) 17

1001 %1 29T & =
(A) 0110

(B) 1111

—_~

C) 1100

(D) 0111

0.1435 T AgCl 20 ml HCl ¥ Wl Bl &,
1A it A B

(A) 0.001 N
(B) 0.005 N
(C) 005N
(D) 0.01 N

SPACE FOR ROUGH WORK / 7% & & fa&l g
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23. In a simple microscope, the final image 23. YNV geAeH H o4 At sifan gfafers
is: A
(A) Virtual, erect and magnified (A) wwreufeR, Hen 9 smafia
(B) Real, erect and magnified (B) dofash, Hiun 9 sTafHa
(C) Real, inverted and magnified (C) arfae, 3ot 9 STafda
(D) Virtual, inverted and magnified (D) wIeqieh, 371 9 STafda
24. How many square fields of side 2 unit can 24. U 40 SHIE o8 qAT 10 ShiE 'Tﬁ'é'rsg El|
be cut from a rectangular field of length SRR & 9§ 2 3RS ST o1 fofieA iR
40 unit and breadth 10 unit ? & I ST Tl & 2
(A) 50 (A) 50
(B) 100 (B) 100
(C) 40 (C) 40
(D) 200 (D) 200
25. Monochromatic light is refracted from air ~ 25. T GerTel a1 H . ST a1t hid H
into the glass of refractive index . The aTuefdd el § 1 3‘|T‘Tﬁ?[ LC Tqafdd ?I'{Tﬁ e
ratio of the wavelength of incident and qTeed 1 STUM ¥
refracted wave is :
(A) 1:p (A) 1:n
(B) 1:p? (B) 1:p?
€ p:1 () w:1
(D) 1:1 (D) 1:1
SPACE FOR ROUGH WORK / T% 18 & ol wig
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26.

27.

Aq

() a—>-=m==o0 26.

A liquid flows in a tube as shown in
figure. A; and A, are the cross-sections
of the portions of the tube. Then the ratio
of speeds v, /v, will be :

(A) Ay/A,
(B) Ay/A
© Az /JAy
D) JA;/JAy

Match List-1 with List-II and select 27.

correct answer using following codes :

List-I List-I1
(Vitamin) (Content)
(a) Vitamin B; (i) Biotin

(b) Vitamin A (ii) Tocopherols

(¢) Vitamin K (iii) Phylloquinone
(d) Vitamin E  (iv) Retinol
(

e) Vitamin H (v) Thiamine

@ G (@ (4 (o
(A @O @ ) @) @ <
(B) (v) (@@ @ @ @)
© @ G@ 3G @ O
D) (v) Gv) () @) 0

L.\ 7! H—;;WZ———Q

T A 5a FoAeR o8 W R Ak <gd
I STIIRY HE F GAAFA A, T A, &,

- IYH! AT TSI v; /vy BT ¢

(A) A/Ay
(B)  Ay/Aq

© JAz/JAL
(D) JA{/JA;

HElt-1 %1 Geft-11 9 gAtem #: = we H
T | FE I =TI R

geit-1 TeEHl-11

( forefirt) ()
(a) faerf B, () @wfe
(b) Tt A (i) 2RIl
(c) foafm K (i) IR
(d) for@dE (iv) e
) faafmH (v) omafe

@ () (@ (@ (e

Ay @ @@ (v @) (@)
B v @ O @@ @)
© @O @ @ @)
O ¢ (v) (@) (

i) ()

SPACE FOR ROUGH WORK / T% @& & fod s17g
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28. A compound contains 38.8% carbon, 16%  28. T ARTEH H 38.8% e, 16% TESSH el
hydrogen and 45% nitrogen, the 45% g €1 i k1 siurfae El
molecular formula of the compound & :
would be :

(A) CH,;NH, (A) CH3;NH,
(B) CH,CN (B) CH,CN
(€) GC,H.CN (C) GCH;CN
(D) CH,(NH,), (D) CH,(NH,),

29. Assertion (A) : Plant tissue culture 29. WRIUT (A) : T HdH Y4 §&H TER
is done by fafy @ Bam €
micropropagation.

Reason (R) :  Totipotency is found in TOT (R) : TISY HIHSA § qul gerran
plant cells. TE S B

(A) (A) right, (R) wrong (A) (A) &, (R) TeTa

(B) (A) wrong, (R) right (B) (A) T, (R) wEl

(C) (A) and (R) both are right (©) (A) W (R) S W&

(D) (A) and (R) both are wrong " (D) (A) W (R) I Toma §

30. Monoadelphous condition of stamens is ~ 30. YHH H T Helig syaeen fre § 9 vy
found in which of the following family ? FA H wE S 2
(A) Cruciferae (A) FH®ER
(B) Malvaceae (B) WreaHt
(C) Solanaceae (C) HremE
(D) Rutaceae (D) ®H

SPACE FOR ROUGH WORK / 7% @1d &% fordt wwig
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31.

32.

What is the variance for the series 31.

3,5,7,9,11, 13, 15,17 ?
(A) 96
(B) 63
(C) 143

(D) None of these

Consider the following statements : 32.

(I)  Fertile soils are colloidal nature.
(II) Humus acts as protective colloid.

(IlT) Due to colloidal nature, soils absorb-

moisture.

(IV) Colloidal soil can diffuse easily

through animal membrane.
Correct statements are :
(A) (O, () and (V)
(B) (I), (IIT) and (IV)
(©) (@), (I) and (III)

(D) (0, (), () and (IV)

Ui 3,5,7,9, 11, 13, 15, 17 & faQ g&xor
FNE?

(A) 96
(B) 63
(C) 143

(D) T ¥ =E T

=1 oAl W fa=m =i
() <R TR HEAES THq & e |

() TwE & e F TWE HE H ¢ |

(IIl) wHaEed JHfd & R0, e T4
ST L B |

(IV) waEed g1 S<ie faeet § fauia
Bl HehaT B

@ FE

(A) @, V)
(B) (I, (1) T (IV)
© (@, (W T (1)

(D) (1), (1), () T (IV)

SPACE FOR ROUGH WORK / 7% & & faa se
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33. Amongst the following, what effect is 33. STSHIESH T T HH W@Fﬁ'&[ HECIRELS
made by lower atmospheric pressure on H 8 = g9E S 2
the rate of transpiration ?
(A) Rate of transpiration decreases. (A) STSAIHSH T HH B S T
(B) Rate of transpiration increases. (B) ITSHHS X 9 W
(C) Transpiration stops. (C) STSUICES o Sl € |
(D) No effect on rate of transpiration. (D) aTSUIHSIH ST W I G T eI
34. Drones in honey bee are : 34. TYHHE! % U B R :
(A)  Fertile male (A) Thelga
(B) Fertile female (B) Wz I
(C) Sterile male ©) REA R
(D) Sterile female (D) wW=A AT
35. Centromere is divided in which of the 35. 3’[@@ fawsm ¥ SR = favem fre
following phase of meiotic division ? T fore wraeen § S €2
(A) First Metaphase (A) 9UH HEATEIR
(B) First Anaphase (B) 9UH GREIEERT
(C) Second Metaphase (C) Tefta wearermen
(D) Second Anaphase (D) Tgfra vamaEen
SPACE FOR ROUGH WORK / TF &Td & o9 SE
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PART -2

HAT -2

Animal husbandry, Dairy TYTaTe, g UrEnfiEnt, aeure

technology, Fisheries and Poultry
farming

36. Ongole breed has been used in the  36.

development of following breed of
cattle :

(A)  Jamaica hope
(B) Indubrasil
(C) Santa Gertrudis

(D) None of them

37. Vitamin A is more in ) 37.

(A) Cod Liver Oil
(B) Sunlight
(C) Fish Flesh

(D) Seeds

38. The milk production programme known  38.

as:

(A) ICDP

(B) White Revolution
(©) ID.E

(D) Operation Flood

T Fage wer

frg Tiew T % fawm § S T H
ST TR T R ?

(A) & AT

(B) Fgwmi

(© ¥ g

(D) 399 | ®IE &

fareifi ‘A ST stfreRan BT €
(A) S TR igd §

(B) g = v H

(C) e = wid °

(D) == H

TY I SR FRIHT He €

(A) STEEE.
(B) ¥ad shif
©) emEE
(D) ST WIS

SPACE FOR ROUGH WORK / T% & & fod g
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39.  For obtaining good hatchability, eggs are  39. oT=8t Wem ¥ 310 § =& Ww F F U,
usually set in the incubator : TREE H SUe 1 Y 1@ I ¥ ?
(A) With narrow end up (A) HRT HFT IR IGH
(B) With narrow end down (B) HHU I i W@
(C) Horizontal (C) Tafas &\
(D) All of above (D) IR |+t
40. Enzymatic Phase of Rennet action is : 40. T e =i TTgAfs =R :
(A) Temperature dependent (A) 9HA e gt §
(B) Ca™+ dependent (B) Cat+ smufia Brdt &
(C) Temperature independent (C) YA STTHRA el ©
(D) Ca** independent (D) Ca*+ oFeanfid Bt €
41. The percentage of water content in Butter 41, HeRa | U &t e feharen wferera @ =nfew ?
should be :
(A) More than 26% (A) 26% 9 IR
(B) Less than 16% (B) 16% ¥ |
(C) Less than 36% (C) 36% & ®H
(D) More than 46% (D) 46% 9 fyew
42. Crazy chick disease occurs due to 42, Hsifom M fra AT H FH I SN L?
deficiency of :
(A) Vitamin A (A) faera A
(B) Vitamin C (B) foer = C
(C) Vitamin B (C) fae™H B
(D) Vitamin B (D) o= E
SPACE FOR ROUGH WORK / 7% &rd & fod wig
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43.

44.

45,

46.

Haugh unit measures the quality of : 43.

(A) Whole Egg
(B) Albumen
(C) Yolk

(D) Egg Shell

Operation flood was started in : 44,

(A) 1960
(B) 1970
(C) 1980
(D) 1990

The fodder crop called queen of fodder 45,

crop is :

(A) Cow-pea
(B) Lucern
(C) Berseem

(D) Maize

Which of the following is not an egg borne 46.

disease ?

(A) Pullorum disease
(B) Fowl Typhoid
(C) Fowl Cholera

(D) Infectious Sinovitis

= gfie g frm =it ® Torern A S
??

(A) T A=
(B) TwHA
(©) =

(D) w9

NI A T TR §3T o
(A) 1960 ¥
(B) 1970 ¥
(C) 1980 H
(D) 1990 #

forg = O S 9 HEA i AN HaE
TR ?

(A) H&-U (Thfer)
(B) T
(C) =™

(D) HRT

T Y -G T v SR T Q2

(A) el SRt

(B) hisHl ATHES

(C) THISEl HT

(D) Thiwm wEAEmEe

SPACE FOR ROUGH WORK / T & & fod smg
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T QB TH TR T H T E?

47. Which one of the following is a 47.
cross-breed cow ?
(A) Jersey (A) T
(B) Brown Swiss (B) W W&
(C) Karan Swiss (C) &E &
(D) Holstein (D) Trewdd
48. Lactometer is the Instrument used for : 48. TERIHIRT A HT AN R W@
(A) Measuring purity of milk (A) TY i Y&l A * fag
(B) Measuring density of milk (B) ¥ % uE A & faw
(C) Measuring refractive index of milk (C) 7Y % H=fia gashisr AT & g
(D) Measuring fat % of milk (D) 34 H 39 & gfaer ol "o & fag
49. The Cheese contain water about : 49. =S H T I SO
(A) 30.3% (A) 30.3%
(B) 35.5% (B) 35.5%
(C) 40.3% (C) 40.3%
(D) 50.9% (D) 50.9%
50. The predominant kind of bacteria causing 50. AT 1 YHE YR S S qoHHE H @i
spoilage in fish at chilling temperature : TSell hl Hff TS I IR, T
(A) Species of Pseudomonas (A) GESHHE * genfaat
(B) Micrococcus (B) HIEHIHIHT
(C) Bacillus (C) e
(D) None of these (D) 99 9 =B Tl
SPACE FOR ROUGH WORK / T® & & & w7 g
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51.

52.

53.

54.

Which of the following Vitamin is found 51.

dissolved in milk fat ?
(A) A/ DandE

(B) D only

(C) Eonly

(D) BandC

Which of the following fishes is 52.

viviparous ?
(A) Salmons
(B) Lamprey
(C) Shark

(D) Chimeras

Rinderpest disease of cattle is caused by : 53,

(A) Bacteria
(B) Protozoa
(C) Insects

(D) Virus

True Stomach of poultry is : 54.

{A) Caeca
(B) Gizzard
(C) Proventriculus

(D) Crop

e H 9 e faerms g o o e
T T © 2

(A) A DTE
(B) %A D
(C) %= E
(D) BWC

T -9 gl o= S § 2

(A) q
(B) wwd
(C)
(D) T

Tereita ag) H Aa-TREE T fHEh HRU
BaR?

(A) T

(B) WS

(©) ey

(D) faomy

i g 9= § :
(A) iR
(B) f=E
(©) wEFiFeH

(D)

SPACE FOR ROUGH WORK / T® &1d & o e
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55.

56.

57.

58.

For the preparation of Peda and Barfi 55.

what type of Khoa, is to be used ?
(A) Pindi

(B) Dhap

(C) Danedar

(D) Pindi and Dhap

In Colostrum, which Immunoglobulin  56.

content found in highest amount :
(A) IGG

(B) IaGI

G IGM

(D) IGM1

The crossing between Murrah and Surti ~ 57.

breed produced the breed :
(A) Nilli - Ravi

(B) Mehsana

(C) Jaffarabadi

(D) Godavari

The study of fish is known as : 58.

(A) Ichthyology
(B) Ornithology
(C) Nematology
(D) Osteology

el T 9H T H fH9 TR % @ren &
AT foha T & 2

(A) i
(B) #mM
(C) TR
(D) €l W& 9™

g 9 o9 sifye & o gfadiet g
A S ©

(A) SRS,

U TS G A kRO W A WA
T Bt 2

(A) Heft-tfa
(B) e
(C) SITwUeE!
(D) e

TTEAt T ST HEeTdl ¢
(A) SRS
(B)  IRfeiarsit
(C) Traemrs
(D) sTieedrarstt

SPACE FOR ROUGH WORK / % &d & foi&t snre
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59.

60.

61.

62.

In milk production the position of India  59.

in the world is :
(A) First

(B) Second
(C) Third

(D) Fourth

In case of crossbred cows, 1 kilogram  60.

concentrate is meant for :
(A) 0.5 kg of milk yield
(B) 1.0 kg of milk yield
(C) 1.5 kg of milk yield
(

D) 2.5 kg of milk yield

Treatment of fish with salt is known as : 61.

(A) Brining

(B) Smoking
(C) Canning
(

D) Drying

Aflatoxicosis disease is caused due to : 62.

(A) Fungus
(B) Virus
(C) Bacteria
(

D) Protozoa

TY IeqeA H fove H oRA 1 W R

(A) oM
@) fed
© T
(D) =g

HESS (HH) TR H 1 fReme s
SRR oz S R

(A) 0.5 form g9 3R |
(B) 1.0 form gy IceA |
(C) 1.5 form gy 3ced |
(D) 2.5 form g9 Scdred |

TSelt T T9F & WY ST FEAT © ¢

(

(B) fammy
(C) ity
(D) SRSET

SPACE FOR ROUGH WORK / T% &d & o sg
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63. Black colour pig with white belt 63. o &l T1 % Y H TR & o & W
encircling body and forelegs is : 1 31X T TS T ! T I B Bl & 2
(A) Berkshire (A) THIMR
(B) Hampshire (B) RFEIRR
(C) Russian Charmokha (C) WA =EmEn
(D) Landrace (D) WvE®
64. Which of the following is incorrectly  64. 3TH ¥ HIF Ul SISt el & ?
matched ?
(A) RIR - American Class (A) IARIMEAR. - STHRHT g
(B) Sussex - English Class (B) WEIH - sferw Fa
(C) Leghorn - Asiatic Class (C) TEH - TREA T
(D) Minorca - Mediterranean Class (D) oA - HfeetEm wmw
65. pH value of milk is : 65. YUH ATAAAT :
(A) 6.6 (A) 6.6
(B) 7.5 (B) 7.5
© 6.9 © 6.9
(D) 19.2 (D) 19.2
66. National Dairy Research Institute located 66. TS T ATHUM Fe feom T
at :
(A) Anand (A) Mg
(B) Ludhiyana (B) foram
(©) Karnal (©) =™
(D) Hissar (D) TeER
SPACE FOR ROUGH WORK / T & & &8 g
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67.

68.

69.

70.

Chicken egg is poor source of which 67.

Vitamin ?

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

Hybrid Napier in early stage of growth 68.

contains higher amount of :
(A) Lactic Acid

(B) Prussic Acid

(C) Hydrocyanic Acid
(D) Oxalic Acid

The Freezing Point of milk is about : 69.
(A) —29°C

(B) —0.10°C

(C) —4.5°C

(D) -0.55°C

Sucrose content in Evaporated whole milk 70.

will be :

>

) 10%
B) 40%

0

(
(
(C)y 20%

(D) Zero%

it s1oer T © TRe faera = wve
§?

(A) o A
(B) Taer= B
(C) foerfi C
(D) fe=E= D

Tefore AURR % TRfe foehmea =jo § g
g < =1 afeemar T ST € ?

(A) Wfs o1
(B) HfaH o1
(C) TESEf® a1
(D) st 3t

T T femish ST B @
(A) —29°C

(B) —0.10°C

(C) —4.5°C

(D) —0.55°C

werragol gu H gt i AT R et €2

(A) 10%
(B) 40%
(C) 20%
(D) AA%

SPACE FOR ROUGH WORK / T% &Td & o s
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PART - 3

HIT - 3

Crop Production and Horticulture TRH 3T TS S
71. “Zero till seed cum fertilizer drill” is used 71. 'S0 da de w0 widarsk fga'’ fvg
for which type of crop ? Teh hl THA H I fohan Sl § 2
(A) Kharif Crops (A) ©O% wUA
(B) Rabi Crops (B) &l wHA
(©) Zaid Crops (C©) SmER wEd
(D) Summer Crops (D) AN F3TE FEA
72. Raising of a number of crops from the 72. TH T ©d ﬁ, Th ?ﬁi a5 H N ¥ H3
same field during one agricultural year is T HEA |
known as :
(A) Cropping System (A)  HEA FoTTed
(B) Cropping Pattern (B) wHA Ued
(C©) Cropping Intensity (©) wEd HEAdr
(D) Monoculture (D) HFRRER
73. Crops generally sown in June and 73. ®HEA S GEA: SE H 915 9§ 0
harvested in October - November is TR ~ TR § F A ], o e §
known as :
(A) Kharif Crops (A) ©UF wYA
(B) Rabi Crops (B) &l Ty
(C) Zaid Crops (C) SmER BwyEd
(D) Summer Season Crops (D) YT wHa
74. Which chemical is used for enhancing  74. e T % A TARE hl Tl <+ Al
vase life of cut flowers ? WA ©
(A) 8-HQC (A) 8-HQC
(B) ABA (B) ABA
(C) Nitrobenzine (C) B~
(D) Pelargonidin (D) drerTHEH
SPACE FOR ROUGH WORK / % & & fed sig
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75. The nutrient that plays an activist and 75.

catalystic role in the photosynthesis of
plants is :

(A) Iron
(B) Calcium
(C) Zinc

(D) Magnesium

76. Bitter pit is a common disorder of : 76.

(A) Potato
(B) Rose
(©) Apple

(D) Canned fruits

77. C-enamel cans are : 77.

(A) Acid resistant
(B) Base resistant
(C) Sulphur resistant
(D) All the above

78. The word “Agriculture” has been derived 78.

from :

(A) German words
(B) American words
(C) Latin words

(D) Arabic words

el H Yeprel HYuU § TRIfORE 9 hefaie
% w9 § @ iR Fem o feae s
wE?

(A) STRRA
(B) hfesrem
© &=
(D) #fAfREH

farex fye Sfeer faeR |mT=Ia: O/ ST @
(A) o H

(B) Teme |

(€ TIH

(D) fesameig well

-z fesm B €
(A) T TEUH
(B) &R STERI¥SH
(C) Tiueh IFeH
(D) SudieRt et

“fiehee ! W 3 W fRed ek T
7?2

(A) A
(B) FH{HA
(©) dfed
(D) e

SPACE FOR ROUGH WORK / T% &g & fo&l Sg
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79. Dorsa, Matasi, Kanhar, Bhata words 79. SR, HH, FRR, WWHHW%
related to:
(A). Mineral (A) e
(B) Manure (B) W
(C) Soil (C) fugra
(D) Fertilizer (D) 3H* 9
80. Length of guntur chain is : 80. X = T WIS BT
(A) 20.11 Feet (A) 20.11 ®ie
(B) 66.00 Feet (B) 66.00 ®IE
(C) 50.46 Feet (C) 50.46 HIZ
(D) 100.90 Feet (D) 100.90 Wl
81. Filler plant is accommodated in which ~ 81. f®¥ qou1 Tgfa | e e T S § 2
planting system ?
(A) Contour (A) = (FR)
(B) Quincunx (B) Tageft
(C©) Hexagonal (C) W
(D) Rectangular (D) IR
82. Juice which are served directly are known 82. WY IWM & fow Wi S e W ()
as : g
(A) Squash (A) &
(B) Cordial (B) whifead
(C) RTS (C) ST
(D) Marmalade (D) WHAE
83. The common growth regulator for grape 83. TR % werres! H ferelienty wd @ &
berry thinning and elongation is : forg St W g, fame €
(A) NAA (A) wTT
(B) Ethereal (B) IR&A
(C) BA (C) T
(D) GA, (D) ST,
SPACE FOR ROUGH WORK / T& &Td & o™l w118
Set - A 26 0921/ TE-TAG/RCE-EAG



84.

85.

86.

87.

88.

”Chhat’tisgarh Nandiraj” is a variety of :

(A)
(B)
©
(D)

Litchi
Guava
Papaya
Mango

Which seed category is not found in
India ?

(4)
(B)
©

(D)

Certified Seed
Breeder Seed
Foundation Seed

Registered Seed

Enzyme present in latex of papaya is :

(A)
(B)
©)
(D)

Amylase
Protease
Pectinase

Protenase

NABARD came into existence in :

(A)
(B)
©
(D)

1979
1982
1985
1990

Two most important food crops of the

world are :

(4)
(B)

©
(D)

Ragi and Bajra
Tea and Coffee
Rice and Wheat
Millets and Maize

84.

85.

86.

87.

88.

‘it T TR wEa w TR R 2
(A)

(B) oTHER

(C) e

(D) &

T @ ®F Y SiS YHR F GO IR H T
BAAT?

(A) I st

(B) TSTH S

(C) STHR S

(D) Wi o=

Tt % oo | Y T AT TSIEH §
(A) THEAS
(B) Wfeus
(C) ufRAs
(D) WfeAst

e SAfede | ST
(A) 1979 ®
(B) 1982 H
(C) 1985 |
(D) 1990 #

forgel =1 S Y@ WE HEe DF € ?

(A) T T SR
(B) =M TS WA
(C) = T g
(D) fhetew o Heemt

SPACE FOR ROUGH WORK / T® &8 & fort s7g
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89.

90.

91.

Which of the following is a Anti-Diabetic 89.

rice variety ?

(A) Chhattisgarh Madhuraj - 55
(B) Chhattisgarh Sugandhit Bhog
(C) Rajeshwari '

(D) Sambleshwari

Poisonous baiting is used to control : 90.

(A) Borer insects
(B) White fly
(C) Thrips

(D)  Fruit fly

TR ¥ BF W TR-gEfafes um &t fee
?? .

(A) BTG HYTS - 55
(B) DIETE FrifHa s
(C) TSIEert
(D) HRATd

Sefel = &1 Sy it e & fag &
g

(A) BTH HIE
(B) Wg HeRdl
(C) fuH

(D) el HeRdl

= § fr ¥ ol wen B owd o

For which of the following is black soil ~ 91.
not very suitable ? EREIUI
(A) Cotton (A) 9™
(B) Wheat (B) &
(C) Potato (C) s
(D) Groundnut (D) HTwel
92. Chrysanthemum is a : 92. TR § :
(A) Short day plant (A) <Y Hfewienta =1 dr
(B) Day neutral plant (B) Wil & fd sTHAgTRiA aren
(C) Long day plant (©) < wfswiienter 1 qen
(D) None of these (D) = 9 %% T
SPACE FOR ROUGH WORK / T% &T¥ & f&™ wg
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93.

94.

95.

96.

Wind breaks are planted in : 93.

(A) South-East side -
(B) North-South side
(C) North-West side

(D) East-West side

Taste, Aroma and feel is referred to as : 94.

(A) Astringency

(B) Rancidity
(C) Flavour

(D) Viscosity

M-9 is a dwarfing rootstock for  95.

propagation of :
(A) Apple

(B) Pear

(C) Peach

(D) Plum

National Institute of Biotic Stress 96.

Management is located at which place ?
(A) Baramati

(B) Lucknow

(C) Baronda Raipur

(

D) Bhubaneshwar

SRR 1 A9 FehaT ST R
(A) =feor-gd feem

(B) IR-gfaror femm

(C) T-ufe=m feum

(D) Je-ufv=m fezm

e, gy iR Teu™ ¥ ad ©

(B) STE B

M-9 JaEF % faQ T a1 e |

(A) ¥4

(B) RTIf
©) g

(D) siqqgEm

T s €U yaEE Heae fohg T W)
fem?

(A) STTH
(B) @I

(C) == TR
(D) YR
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97. Arka Suryamukhi is variety of : 97. TRt YAE fohem T
(A) Tinda (A) fé=
(B) Sunflower (B) oGl
(C) Watermelon Q) S
(D) Pumpkin (D) sg
98. Purpose of extension evaluation is : 98. TIER Yeameh <1 ECARi
(A) To identify the weak points (A) FHSIR forgall ot w8=m e
(B) To identify the strong points (B) W forgall ohl U8 Al
(C) To identify the gaps and errors ©) ATl Ta Tl TeE Al
(D) To identify all the above (D) R & w+ft # TEaE H
99. The most critical growth stage for 99. ﬁ{‘?ﬁﬂﬁ o= & Srfcra MY RS 7 -
irrigation in wheat crop is :
(A) Tillering Stage (A) feafin sraeen
(B) Crown root initiation Stage (B) ohTe &< HIRIEYH STaeen
(C) Flag leaf Stage © TN T STeree
(D) Jointing Stage (D) Siigf=a sreen
100. Which of the following is not a Cash  100. 378 ¥ & H HI HEA &l © ?
Crop ?
(A) Cotton (A) HUH
(B) Jowar (B) w®
(©) Jute ©
(D) Tobacco (D) dHITR
SPACE FOR ROUGH WORK / 7% @& & fo&l swg
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PART -4 105. Fill in the blank with suitable article.

General EngliSh She is _____ vegetarian.
) A) A
101. Fill in the blank with suitable article.

I can’t live on 500 dollars a (B) An

month. (C) The

(A) A (D) No article

(B) The

(©) An

Choose the correct option for the change of

(D) No article Direct Speech into Indirect Speech.

2. Feminin d :
102. Fe ¢ Gender of Fox 106. My uncle said to me, “How is your studies

(A)  Goose going on now ?”

(B) Vixen (A) My uncle asked me how my studies
(C) Foxen were going on then.

(D) Mare

(B) My uncle asked me how your
studies going on now.

103. Fill in the blank with suitable article. (©) My uncle asked me how my studies

They usually spend their holidays in is going on now.

mountains.
(D) My uncle asked me that how my

>

(A) An . .
studies are going on.

B) A

(C) The

(

D) No article 107. He said to them, “Don’t make a noise.

(A) He asked them not to make a noise.

104. The feminine gender of Drake : (B) He asked them that don’t make a
(A) Bee noise.
(B) Doe (C) He told them don’t make noise.
(C) Duck D) He told them that they should not
y
(D) Hen make a noise.

SPACE FOR ROUGH WORK / T% &4 & f&d swg
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Choose the correct option related to change in

voice.

108. Who asked you to draft this letter ?

(A)

(B)

©)

(D)

109.
(A)
(B)
©
(D)

By who you are asked to draft this
letter ?

By whom were you asked to draft
this letter ?

You asked whom to draft this
letter ?

Who drafted this letter by you ?

He teaches us Grammar.

Grammar was taught to us by him.
We are taught Grammar by him.
We were teached grammar by him.

Grammar will be taught to us by

him.

110. I saw him leaving the house.

(A)

(B)

©)
(D)

Leaving the house, I saw him.

He was seen leaving the house by
me.

He has been seen leaving the house.

He was leaving the house seen by

me.

Choose the synonym of the word from the

options given.

111.

112,

Pragmatic

(A) Recent

(B) Philosophical
(C) Idealistic

(D) Practical

Vanquish :

(A) Liberate
(B) Surrender
(C©) Conquer
(D) Replace

Choose the correct antonym from the options

given.

113.

114.

115.

Opaque :
(A) Bright
(B) Shady

(C) Soluble
(D) Transparent

Destitute :

(A) Normal

(B) Rich

(C) Reputed
(D) Healthy
Prohibition :

(A) Allowance
B) Permission
) Restriction

(
(C
(D) Inhibition

Set- A
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116.

117.

118.

UmT - 5
e et

‘el URY T o B TR S T STavae
2! 39 919 i Fead F 916l FEET ¢

(A) TEd @Rl g, fR el o
B) TRWYR, =a F+A |
(C) 9 <G, T T R @
(D) for fo=m st 6 & WS Tl

‘T e <@ B ¥ T,

FE TRE?
I FE, TR HA1? g IS T,

TR I’

ggwﬁw%@aﬁﬁmmm
?
(A) TR YN TSI
STHTIS ToIY FEhifaa
(©) rHeshIfR
(D) S9d=a # ¥ HE T

‘T sifE W T e i 37y ®
(A) FU=HATH
(B) wHue fe@m
(C) SRIeR |
(D) <RSI T

119.

120.

121.

122.

foreiffaa § @ frg o B smgfl w6 22

(B)

Frefafed # @@ o g
(A)
(B)
©

fagr
TR
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123. Frefafea % Q s oo dfga G d g 128, Wjﬁ@@fw%mﬁ It foew s
(B) fewelt (A) T8
(C) e -
(D) T-WI ®)
© dm
124. ‘GETH’ =g 1 9 Wiy ok ® D) A
(A) HER + HH
(B) AR + 3 . .
(C) THg + 3ifH 129. ‘ #m = gan St ¥ wa o 98 T § wow
(D) §q + 4 FI' 39 99 % A9 91 v fEw e ¥
ST A U v U ¥ oo o1y o
‘ SN SN Y@iferd weg o otef ¥ 1 Frepeaw ot amt
125. ST E 3 Y& F I TS|
(A) oo |
B) F (A) TI
© "« (B) S
(D) faemivi
(C) <3l
126. ¥ ¥ TER fFan fordioor & fpad 95 2 (D) S
(A) =X
(B) dH
o 3 130. ‘59 %M &% fau =§ 3 sEvy e s’
© W A B Hurer 9o s S A
(D) & a1ef Tifaa A W R?
127. ‘& = T S’ 39 qe H A ¢ (A)
(A) g (B) St
(B) HwEar= (C) T
(C) e
(D) g e (D) S
SPACE FOR ROUGH WORK / 1% &4 & fo se
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PART - 6

General Knowledge of Computer

131.

132.

133.

134.

135.

Which computer part can you point and
click with ?

(A) Keyboard

(B) Mouse

(©)
(D)

Slide sorter can be accessed from which

Monitor
PDA

menu ?

(A) Insert
(B) File
(C) Edit

(D) View

Dot Matrix and solid font printers are
examples of :

(A)
()
(©)
(D)

line printer
of - band printer
character printer

ink printer
MPEG is used to compress :
Video

Audio
Frames

(A)
(B)
©)
(D) Images

For reading the disks DVD uses :
(A) Blue laser

(B) White laser

(C) Red laser

(D) Green laser

131.

132.

133.

134.

135.

| - 6
THAT hl AT SRR

FHIR & g WM | ?ﬂquoint?:ﬁTclick
A T2

(A). Keyboard

(B)
(C) Monitor
(D) PDA

Slide sorter f9 U3 ¥ access BT € ?

Mouse

(A)
(B)
©
(D)

Dot Matrix 3R solid font fiieX
T 3T & |

(A)
(B)
(©)
(D)

Insert
File
Edit
View

line printer
of - band printer
character printer

ink printer

MPEG T 3931 &1 Gepfod
FHH MR

(A) Video

(B) Audio

(C) Frames

(D) Images

DVD, disks TgA % oI siHIel Y © ¢
(A) Blue laser
(B) White laser
(C) Red laser

(D) Green laser
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136. Internetis :

137.

138.

139.

140.

(A)
(B)
©)
(D)

Dynamic system
Complex system
Decentralized system
All of above

Operating system is :

(A)

a collection of Thardware

components
a collection of input-output devices
a collection of software routines

all of above

How does a Le-hard virus come into

existence ?

(A)

(B)

©)
(D)

Hardware

Software

‘Command.com

FRIDAY 13

A set of instructions given to computer is

termed as :

(A)
(B)
©
(D)

Program
Software
Application

Command

Web crawler is also called as :

(A)
(B)

©
(D)

Web Manager
Web Spider
Web Optimizer
Link Directory

136.

137.

138.

139.

146.
- (A) Web Manager

ECISCE

(A) At TaeeA
(B) =iy fawen
() fedgeomese fawn
(D) Ul et

e e ©
(A) T FEAR HUM< A TR T |

(B) TIY2-3TSeYe Feamsy 1 6l B
(C) TR T HI WIE 8 |
(D) SR G4l

Le-hard virus 31 § 9 =001 ?

(A) Hardware

(B) Software

(C) Command.com
(D) FRIDAY 13

FreX Hi far 9 o e w1 9qe

_ gan gl

(A) UM (Program)

(B) WA (Software)
(C) T=HHIA (Application)
(D) HE (Command)

Web crawler ot e §!
(B) Web Spider

(C©) Web Optimizer
(D) Link Directory

Set- A
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141.

142.

143.

PART -7
General Knowledge

What is written in the Constitution about
Prime Minister ?

(a) Prime Minister will be appointed by
President.

(b) Prime Minister will be head of
Council of Ministers.

(c) Prime Minister will be head of
Cabinet.

(d) Prime Minister will be leader of
majority party of Lok Sabha.

Total how many accusives were there in
the ‘Raipur Conspirancy Case of 1942 of
this state” ?

(A) 11
(B) 15
C) 8
(D) 12

Which is the major food crop in India ?
(4)
(B) Wheat
©)
(D)

Rice

Pulses

Fruits

141.

142.

143.

U - 7
=T 7

Ty 3t & fowa § g § s femn T
g2
(a) rgufa, gy w3 @ gl wom

(b) W w3l Tl ufteg s giean g
() umﬁ,ﬁﬁvﬁawg@mml

(d) UM T, ARG F FGAT T hI Al
BT

A) @

(B) (a), (b)

© (a), (b), (9

D) (), (b), (c), (d)

1942 % ¥ H B3 39 T & ‘TR 74
g’ ¥ g T g 92

(a) 11
(B) 15
C) 8
(D) 12

IRA o THE W B A 72
(A) SrErd
®
(C) =
(D) el
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144. In the National Movement of this state

144. 39 U9 & USHE Afed d ‘gamEd’ 3

‘Dayawati’ has leading role in the ‘Jangal Freeiar Serm o SivTet Feme # SrIfon sjfet
Satyagrah’ of which place ? e oft 2
(A) Tamora (A) @
(B) Rudri (B) &=t
(C) Pondi (C) i
(D) Sihawa (D) féeran
145. On which price, paddy is purchased by ~ 145. a1 2018 # BHAGTE THN 7 o1 b i
Chhattisgarh Government in the year WG §?
2018 ?
(A) T 1770 per Quintal (A) 1770 9fa feeiea
(B) ¥ 2500 per Quintal (B) ¥ 2500 Wi feizat
(C) % 2100 per Quintal (C) ¥ 2100 fa feiea
(D) ¥ 1700 per Quintal (D) ¥ 1700 Sfa feeieat
146. The pattern of village situated in bank of ~ 146. e % foraR feera T w61 Thoey BT R
river :
(A) Circular (A) THERR
(B) Linear (B) @M
(C) Star (C) W
(D) Radial (D) W=
147. In which of the following division of  147. freifafen & 9 forad s &1 9R =@ §
society into four varnas is mentioned ? fauT @1 e § 7
(A) Rigveda (A) AT
(B) Yajurveda (B) IR
(C) Samveda (C) HHaE
(D) Atharvaveda (D) 3J¥ddg
SPACE FOR ROUGH WORK / % HE & o e
Set- A 0921/ TE-TAG/RCE-EAG



148.

149.

150.

Who of the following was the last king of
Mauryan dynasty, assassinated by
Pushyamitra éunga ?

Samprati

Devavarman

Shatadhanvan

Brihadratha

A Finance Bill is passed by the Parliament
and sent to the President for assent.
President refuse to sign and raised some
objections. What will be happened ?

(A) The both houses of Parliament will
consider and will pass by the
majority.

The both houses of Parliament will
consider and will pass by absolute

(B)

majority.
The both houses of Parliament will
consider and will pass by 2/3

(©)

majority.
(D) None of the above

When does first census of India
occurred ?

(A) 1881
(B) 1891
(C) 1901
(D) 1931

-00o0-

148.

149.

150.

e 59 w1 frefafeg § 9 @0 T o,
et o geafis g A &t i ?

gt
(B) <FaHA
(C) wag=H
(D) 9&=A

(A)

e fore forseren g 3 wiRa o it it
¥ foru Teeafa % arw dem) Al | TR
Y R fopan iR Fo ufal ek | o1
g ?
(A) GEE h IHI b 39 W foreir R sIgra
 ifka &

THg F Ml et 3| W faam w fu
EHd | qIRa &4 |

(B)

Tgg % <Ml Fe 39 W =R # 2/3
EHT § TIRG &4 |

©)

(D) S & w7

IRA § YT 0T 6 g3 2

1881
1891
1901
1931

(A)
(B)
©
(D)

-00o0-
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SET - A

Maximum Marks : 150

TR ARG A FTEAR : 3 HS } { Ftfireran 37k : 150

Time for marking answers : 3 Hours

e

1. 38 ye-gfee § fe i 8
(1) P o % 7 @ T ()
(2) WU, 1Y SRR, AT T pehe ae
(3) THHA IcUEA T SR

(4) wE U

(6) W fel

(6) TP H WA SR
(7) WERFE

TF T 1 3 1 ¥ |t 7 At |

9T % T, & T OMR IW-3Me (TEREie) R 3ifha hifs |

T T 3ifehd T W 1/4 ek 1S SE |

et ot ate ¥ Ferpor A1 Wi Toel (@ HieEd B 1 AR afsld ¥

<o e w1 faeree nfE 75 s fawe Tereed a8 B § S |

Note :
1.  This Question Booklet consists of Parts namely :
(1) Elements of Agriculture Science and Mathematics (Agriculture Group)

(2)  Animal husbandry, Dairy technology, Fisheries and Poultry farming
(3) Crop Production and Horticulture
(4) General English
(5) General Hindi
)

(6) General Knowledge of Computer

(7) General Knowledge

Each question carries 1 mark. All questions are compulsory.
2 Indicate your answers on the OMR Answer-Sheet provided.
3. 1/4 mark will be deducted for each wrong Answer.

35 3T
35 3%
30 3i&
15 3
15 3i%
10 31
10 3%

OMR S-¥2 (TERelie) F1 AT Hia THa Tt e STamaer 7 w1/ o e 78 we S

35 Marks
35 Marks
30 Marks
15 Marks
15 Marks
10 Marks
10 Marks

4
5.  While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does

not get prn or spoiled due to folds and wrinkles.

Set - A 40 0921/ TE-TAG/RCE-EAG



